Chapter 11.2 part 3

Corollary 11.8 and its proof

On Coxollary 11.8 and its proof. 2et G: F > E be a field isomorphism. Prop "a extends to an isomorphism of the polynomial rings" FC FDJ The map G: F[x] -> E[x] ao+ ",+ qux" -> 5(ao)+ ",+ G(au) x" F[x] = E[x] a moract F = E is a ring isomorphism Motation: for a polynomial &=ao+ ... +aux EF[x] We write  $Gf = G(a_0) + G(a_1) \times + \dots + G(a_m) \times^m \in E[x]$ for the image of funder G (Gf instead of G(R))

Thill.7(1) Let KDF and, for  $u \in K$  let  $p \in F[x]$  be the win poly within all polynomial of u.

Then  $F[x]_{(p)} \sim F(u)$ Then  $F(x) \sim F(u)$ 

From the proof:

$$g: F[x] \longrightarrow F(u)$$

$$f \longmapsto f(u)$$

Kery=(p) y is surjective

the isomorphism:

$$\overline{g}: F[x] \sim F(u)$$

$$[f] \mapsto f(u)$$

Similarly, consider GPEE[X], det GP be the minimal polynomial for VEL for a field extension LDE.

$$\tau: E[x] \longrightarrow E(x)$$

$$\xi \mapsto \xi(x)$$

Cox 11.2 G: F -> E is a field isomorphism u is algebraic over F with its win poly PEF[x] - E - OPEECXI Then there exists B: F(u) -> E(v) - field isomorphism such that ō(c)= o(c) for every c = F " o extends o" 3(u) = V F(y) E(y) + => E Notation J: E[x] -> P/T f m [f] J'is surjective

We brave constructed so fax:

The composition To Job is surjective (beause all three maps are surjective) The kernel consists of hEFEXI such that (Gh)(x) = OE Oh= & Op & E E[x] h=g'k.p g'kEF[x] h E F[x] is in the kernel of the composition map \(\tau\_0.\tau\_0\) iff h is a multiple (5'le is an arbitrary polynomial of p The kernel Ker (ToToT) = (p) ZoJoG: F[x] → E(v) is surjective The First Isom-un Thru implies the isomorph We know from th 11.7(1) hotation  $Q: F[x]/(p) \approx E(y)$ [t]  $\longrightarrow (G_1)(y)$ [x]  $\longrightarrow y$ Thus  $E(y) \approx F(u)$ . F[x]/(b) ~ L(n)

$$F(u) \stackrel{\overline{g}}{=} F[X] \stackrel{\Theta}{\longrightarrow} E(v)$$

$$f(u) \stackrel{\Gamma}{\longleftarrow} [A] \stackrel{\Gamma}{\longrightarrow} (GA)(v)$$

$$C \stackrel{\Gamma}{\longleftarrow} [C] \stackrel{\Gamma}{\longleftarrow} G(C)$$

$$C \stackrel{\Gamma}{\longleftarrow} [X] \stackrel{\Gamma}{\longleftarrow} V$$

$$\overline{G} = \Theta \circ \overline{G}^{-1} : F(u) \longrightarrow E(v)$$